REBXFOELUE bigAO09-(1)

HOBRRETN—IDBERESL—ZVT

13+ 9= 1114 1=

2. 3+ 2= sl 44+ 1=

39+ 9= 9| 542 =

1124+ 4= 10| 2 4 2 =

51 44+ 4= 11 444 =

6] 2+ 3= 2 545=
RET: Qi



REBXFOELUE bigAO09-(2)

1o+4= 1124+ 5=

21 14 2= 8 3+ 1=

312+ 1= 9] 344 =

4 3+4= 1001+ 5=

51 4+ 4= 1 445=

6] 2+ 4= 12| 542 =
BT Qi

MOBRRETN—IDBERESL—ZVT



REBXNFOELUE bigAO09-(3)

13+ 9= 1124+ 5=

2 9+ 3= sl 44+ 1=

31 4+1= 9|94 9=

41 3+4= 1034+ 1=

51 9+ 2= 1 449 =

6 444 = 2 14+4=
BT Qi

MOBRREDN—IDBERESL—ZVT



REBXFDREUE 2)|=>| 1154+4=Q 11245= 7
PIADDS 214+2=3 [13+1=4
[@Zﬁ%\*] 32+ 1= 3 9| 3+4= 7
4/3+4=7 [J1+5=6

(1) 3 544+4=8 [14+5=9
} « 612+4= 06 29+2=17
13+5= 8 11+1= 2 113+5= 8 112+5= 7
213+2=5 [84+1=5 |25+3=8 [84+1=5
3/ 9+95= 10 [/5+2=7 314+1= 5 91242= 4
4{2+4=6 [02+2=4 113+4=7 [03+1= 4
$4+4=38 1A+4=8 | 5542=7 [14+2=6
6 2+3= 5 12 5+5= 10 6 4+4= 8 19 1+4= 5
2 ? 1& ? ﬁ&'@ﬁ%@—ié%i&f%u—:yﬁ https://magald.com




